Reison  Fuutavew [#I]

’

- 8
@G (%x,4)= »-1 y-1
4 t . (- de X %O
: ¢ ¥¥O I TN
o

Pelone '
clorniou o fhc 6Q|MW\Q, F\»(Y\Ul‘uu.'

Q(K/S): —rw_

(11)
Cixayy

Betra Dryirn burrewn ¢

0e4u. Ox‘.\tvﬂw‘on v oL couttueu s pmhab,‘try drier buiron

AEP\'ch ew the Co,17] mcwae,chqu.\cea. by two

Shoype pammucvs aro oand p7O.

Tw, POF of e et Pinty

o1 ){51
1-%
‘fx(x;a,p)—.- S et , 0 ¢xtd {231)

BB

@ Desive FWe expeciaiion £ (X1 awnd vuriaws Vav LA

Ll XN Besa (@, B)




T Y T AT,

21
(a): Qj deew\u\‘o\n od +HwW expectamtion, wg howve tuert:

Bca,B)

1 "
FLx1 = } x-px(xsa,ﬁ)co" =/ X ¢ SN TICT AR BRFS
0
0

i 1 UWainy Pwe PHL\:—\A
EY’ XJ = Qi p) ) X RIEES x) dx od ne Bera Cua o
(1]

~

D(adl,a)

_ -9 Fa+1)T(B) =
FAL XA = Ba,p) C(a+p+1)

s, Tesutd)

E K. X ] M) (e ) Clat+p+a)

Ta+0) T(@ty)

E (' X l C(a) Fa+pts)

E (X 1 (‘lnjd)a.rtm . E(xl :

1

g rHi) = e )

Cwrot) = carpiliatp)

i

T ewp)flav)




[#3]
(B8): Cad(u(lomn(j the variowe , TeQUIvRs cowyuilvyy twe

Seceud ordev mowart ELKLJ‘.

i
2 ] "1 o-1 p-1
E(_X ]= j X ‘fx("‘/arﬁ)d" =} x'?.. % pasel o('lx #
o)
0

B3, )
T
R 4
= e—— +1 fn-A
ELX ] B 6(.10) . Xo « (1-X) 'Jx -
e i
n(nrz,n)
b 1 F@+2) Mip)
ELX7) - — By
B p) Fe+piz)
E[xa} S|, | . _Mesufe) | Cess)l(acr)
MNa) flp) f(a+p+2 ) @) flaipte)

U4t (‘lz‘w\\{ L &eoow.-uj Pl enarares
vy -~

Fa+2) = ca+1)f(ari) = cat)as ra

fLotpt2) = @4p+0) T(Q+p*1) = (a+p+2)(atp) -[a+p)

(R Fa4g) 0. (@a+1) «{) >
E{'X ] T Ty (@+p) ' (@10+1)

o(a+i)
@tp)@1P+2)

E[x"]=




U, we way WH'N twee:

2
ECX1- ECX1 =

[#¢]

VOV (:_X ] =
Qig+\) a”
Vov [ X] = s . -
@yp)(a+dv) Q+p)
a(a+1d@4p) atospri)
VQ' LX] = 4 - 2 =
(Qap)(as+a) (@) (Qip+1)
2 g )
- (@a+a)win) a @+ bl
Var (X1 = = T
(atp) (atp+3) (opy (At0T4

4 R .. iy 3
a.3~+o-,‘f5 +a +o.p — & -aré -a" -

Var (X1 =

@apr(a+p+a)

—

r
Vm(.X]‘ o0

(Y @+ p+)




Devive ag Ao wemeun Beneretivy Funcriown (M 6F) Lov e (#5]

_(Bi tou Df\‘ffbuh\cw\ ¢
©

DQ\ c\chw\w ed twe MEF, we have thaui:

Ex i
MXH): Ele 1-= Qt,: Ka-&(aw)p'l‘ dx =
B, p)
o
U Tt
) = “ -1 -1
x [t G(A,o)} e +x  (a-m)  -dx (1)
o

x
We u\‘\(\\‘zc Hal Tny@ov Sevies expausion c’e et :

—
® k.
& T : i w!' g
“=20

Cou.\bc‘l\‘vg €qs (1) aul (), we gois

A *r i X
(4) = : (t=) R b
My B o \ il O dx (3> =>
0

“=9 W' ]VL(IUU
wu b
Cweovpe e vl
O AL cu i
VN

|
. i %
(1) = . ) (£X) a.-1 f-1
Mx B‘ﬂ,a) [ r &N o (4-%) ]J‘ ‘.)




We_ cau (‘u\e"houde cue  Cutegreifon ond summariton opevairon Qs (#6-]
o-1 6-3
Mxln=~—- ? ‘_ “” » X au-x)c-lx} (s
LYCTR
Vavobies touwd K mey be
fveared os cowrautd
duruva ML (UBES vun'va QPR VOAYA
f " -
t v a-1 p-1
Mxlt)z ° T X s (4-%) Jdx | (¢)
q,p) :
e K=o o
- i |
if \Iu“'(”,c e defiviviva
§ ol A Beror Fuuchen
-
: - 5
- A > £, B(ax,
My 1¢)= o el 14 m) ()
B@pd
K=0

'T\“:LQ el leym cau be weved lugide Ha Summaticn ¢pe veriun
(0w

My 16 - 2:

B &+, p)
T Qo

¥ Lt this ceim be dencied as Qu

(g)

Blos¥, ) C(a+g8) [ @+ )
q" i G(a,8) r) ) C(@ipexr)

q [a+e) f(a+n)
s é (
= reen flaspie)d

\’

S

Me




o) s !
Ccluﬁuh‘v\é tWe Qem v eto —r—(r(j;" wmay he “"“"u”"" o

v
MNea+1y = & M@y
C(@a+2) = e+ M@+1) = ca+rafa)
C (ae3)= w@+nIf@+) = ca+2)(a+1)a fien
6
i
Flaavwy =

(@+e-4)(Q+¢-) -~-(@tads O Tlay ;, ¢x4 (i0)

C Tuus, we hawe +taat

)
Vv.* UL = (@+w~1)(atw-7)
o)

et (1)
Ky 4

£q. (W) ey be Wwove coxupou?j expreycA as

w-i
YK = TT (a+rm) (i)
M=o ¥z 4

fleipiw)
© i Mewe, Qo»- te (wvevie vQilo

o) O W i

-4
- & “
— (a*B+MA)(|3)
S

m=0 K 4

Cow huty Ges- () o (13), yretds

-\ 2\
™ Ko(am) AL T\_ LA
—_— = - = < = Lip+m
S¢ !h' (OP W) - Mmag
M=o wr i




* (#5]

G‘\-(a’) Me y be Te-writvem as:e

£ @
tK
MX(t)= —\LT. qK (13)
K=0

Se0iS L However, ony Qxpression fov Qi ovccovdiug to éq.(llﬂ
s Jel&ned eu(‘] @or va lues 0-0 K &w wheh k2,4,

Tucelore, we peed to spliy the sam cw €q.(13) as:

-t +*

(o}
Mx(i")= _:’!—‘qo""z 0 'qg (16 )

K=q

LUM(YQ, qo - 6(0—*010) - fﬂ(‘lo) Y (1?‘)
R(o,6) Biy0)

Wwe WOJ , thuy, wvire:

© ¥
My (t) = 4+ ? ;! » Qe (\2)

=4

.hhsﬁwwué €q. (1U) ¢wmie €q.(18) 3\‘ves :

~
(atw)
Mx(i‘3= s M W T(aiprmy (14)

Ll §




TVC.. e\‘v\\ ono‘ sc(o\m\ Acﬂvee. mowauats of e b eror EHQJ

Doatvbution @u alic be devived ej ¢

G‘l’ (IQ) @u be ve-wvitkewn lzj dwud'\ua the jummotion omc(

preduct cullies  as:
[

(9 tn n-4 . )
? s et — (R0
Mx (t)': - W o ‘h'. 'T‘; (LA ew)
n=4 B
s B
We haove alie chown that W cAcw:vaP Do ol H M6t’us
@
@ N %
8“’0«‘- béh _t_.YY\n= mo+ .—‘-ﬂ-‘—ch\l'U
MX (1) = n! ,
"o bk
i b
Q Frow €qs. (20) aund (A1) , we can Achc. At
e =
(22)
e tmsed
L nwzi
mh = TY (@+pn) ’ :
K=0
Frow €a. (22) ,we have Hadu:
— (6 W
YV\1_= L(’Xl 5 a+p \/
; o B a-o\ ‘/

]|

2
Moy = E(.x } _;:;; : QADt




